Name:

Date:

Teacher/Period:

Final Grade: J/ 100

Compare Two Two-Digit Numbers

Question 1 (Short Answer)
£10

Which number is greater, 53 or 35,

based on the meanings of the tens

and ocnes digits?

Answer:

Question 4 (Short Answer)
£10

In the context of tens and ones
digits, compare 71 and 17.
Answern:

Question 2 (Multiple Choice)
F10

In ancient Egypt, the pyramids took

20 years to build, and the Sphinx

took 23 years. Which took longer?

A. Pyramids
B. Sphinx

Question 5 (Multiple Choice)
£10

The Sphinx is 63 feet tall, and the
Great Pyramid is 481 feet tall.
Which is taller?

A, Sphinx
B. Great Pyramid

Question 3 (Multiple Choice)
/10

Which is larger? The number of
Egyptian gods (22) or the number
of major pyramids uncovered (14)7
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A, Major Pyramids
B. Egyptian gods

Question 6 (Multiple Choice)
F10

Based on the meanings of tens and
ones digits, is 46 >, =, or < 647

A >

B. <

=



Question 7 (Multiple Chaice)
F10

If Pharach 1 ruled for 45 years, and
Pharach 2 ruled for 54 years, whao

ruled longer?
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A, Pharaoh 2
B. Pharaoh 1

Question 10 (Multiple Choice)
£10

[f 38 mummies were found in one
tomb and &3 in anather, which
tomb had more?
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A, The tomb with 83 mummies.
B. The tomb with 38 mummies.

Question 8 (Multiple Chaoice)
F10

Compare the two numbers: The
Battle of Kadesh lasted 12 days and
the Battle of Megiddo lasted 21
days. Which lasted longer?

A. Battle of Kadesh

E. Battle of Megiddo

Question 9 (Multiple Chaoice)
F10

A royal necklace weighs 2 pounds,
while a small statue weighs 5
pounds. Which weighs maore?

A, statue

B. necklace



Answer Key for Compare Two Two-Digit
Numbers
1:53

2: Sphinx

3: Egyptian gods

4: 71 is larger than 17.
5: Great Pyramid

6: <

7: Pharaoh 2

8: Battle of Megiddo
9: statue

10: The tomb with 83 mummies.



